Operation on fuzzy sets
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A = {x|ARX) = 2]

A = {x]A(x) > o).
A(A) = {x|A(x) = & for some x € X}
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A= 4ju+ 2w+ 5%+ 4y +1/z

| X
Alx) = .
(x) — )

x-—-1 whenxe|[1,21
A(x) =

3~x whenx & [2,3]
0 otherwise.



examplel

Je g+ CUts o CUt A sl e

o =0.2,0.4,05,1
A=4fut 2wt e+ 4y +1/z

o 02A={v,w,x,y,z}
o 04A={v,x,y,z}

o 05A={x 71
1A=z



0 cUt sl MATLAB o geli y i€

function [Aalpha]=alpha (x,y)



example2

Afx) = :_2. &l o cut s MATLAB< el S

function [alpha]=alphal (a,b,c)



example3

3~x whenx & [2,3]

x-—-1 whenxe|[1,21
A(x) =
0 otherwise.

QA.=[{I+113"’“L



Composation

examplel
For every A € F(X), A= | LA,
«€[0,1]
«AX) = a - "AX). U denotes the standard fuzzy union.

02A={v,w,x,y,z}
04A={v,x,y,z}
05A={x,2}
'A={z}



2A=I/v+1Iwt/x+1/y+1/z
04A=1/v+0/w+1/x+1/y+1/z o
0SA=0/v+0/w+1/x+0/y+1/z o
'A=0/v+0/w+0/x+0/y+1/z «

0.2 92A=0.2/v+0.2/w+0.2/x+0.2/y+0.2/z «

0.4 94A=0.4/v+0/w+0.4/x+0.4/y+0.4/z o

0.5 9°A=0/v+0/w+0.5/x+0/y+0.5/z

| 'A=0/v+0/w+0/x+0/y+1/z «
A=0.4/v+0.2/w+0.5/x+0.4/y+1/z



